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201505 15 Discrete Functions
7.1 Arithmetic Sequences

{2,5,8,11, 14, ...}

Sequence - A sequence is an ordered list of numbers

Term - A term refers to a number within the sequence. Terms
are usually numbered to identify their position within a
sequence. ex. t; = the 4™ term

=11
Arithmetic Sequence - An arithmetic sequence is one in which
there is a common difference (d) between each successive

term. o(."?)

General Term - A formula labelled t,, that expresses each term

within the sequence.as a function of its position within the
sequence.

Recursive Formula - A recursive formula is an expression that
models one term of a sequence in terms of the previous term.
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Ex. The following are examples of sequences
a) identify whether they are arithmetic or not

b) Identify t, for each sequence

3,8,12,15, 20,159, ..... 4 2, 6,10, 14, 18, 22, .....

No common %cs — O



7.1 Arithmetic Sequences.notebook May 15, 2015

The General Term

The general term of an arithmetic sequence can
always be writtenas t,=a + (n-1)d,

where t, is the n™ term of the sequence

'a' is the first term and 'd' is the common difference
between each term

Ex. Identify the general term of the following
sequences, then use it to determine the 17" term of

each sequence
\Sf(n«\Y‘EB

3,12, 21, 30,.... ¢ 15,9,3,-3, ( NG
t,\--au-(v\—\)o( tn= 1[5~ P
t = 3+ G- = |5-6n"e
taz TN ‘”\> ( =Z-6n
tn=An-b N7 é,t\7:9_l—(a(\7>
€= 101) 6 = R

= N7
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Ex. The 7™ term of an arithmetic sequence is 53 and
the 11" term is 97. Determine:

(i) the general term ==
(ii) the 100" term. ‘:'“_ :;
= -y '
SIIIERL Tt
, AW
63)/5}*'423\ 53_:&_‘_6&
53z ax 6(W) 44 = 4N
53 =a bl A T4
6?,"“‘ TA W\ = }.

a=-1% = =13 -

T a7 rh adoad+h 2
4)&1'/\) A+dA y.- -y By yeey )

a3
— 53

A = 4A

LQ‘L‘; “

t,= "\3r (n-y) (W)

Two= ~ "t (ﬂﬂ)(\\»
= \oll
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Ex. An ampitheater to be built at Pinafore is
designed so that there are 15 seats in the front
row 18 seats in the second row, 21 seats in the
third row and so on.

a) How many seats are in the 8th row?

tn= 15+ (h)(3)

£q= 15+(7)3)
=30

b) If the last row has 48 seats, how many rows of
seating are there?

4% =5+ (0 "Y?’)

22 = (n-t
3 ’5

= n-\
SNV

c) How many total seats are there?

FEREE 2\ ‘%l VA5 99
IR g
1k fows - . QP“\VS
X &>
273

—

Pg. 424 #1-4,5,6,8,9 ad,10,11,14,17
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